Name:
4.1 Translations
Directions: Complete all iranslations on a separate piece of graph paper.

1. The vertices of ALMN are L(2 2), M(5, 3), N(9, 1). Translate ALMN using vector {(—2, 6)
)

L'(08) M'(3N) N'(77)
2. Graph TU with endpoints T(1, 2) and U(4, 6) and its image after thé composition.
Translation: (x,v) - (x — 2, v —3) T::(_F ._}) ,
Translation: (x,y) = (x — 4,y + 5) i ¢

)("U yia) U ("2 g)

3. Graph ARST wuth vertices R(2, 2), S(5, 2), and T(3, 5) and its image after the translation (x,y) = (x + 1,y + 2).

B'(34) 5'(6, 1 T'(47)

4. Graph VW with endpoints V(-6, -4) and W(-3, 1) and its image after the composition.

Translation: (x,y) > (x+3,y+ 1) \/‘ (—q, =7
Translation: (x,y) = (x — 6,y — 4) W Ly -6 -
(x-3,1-3) (=6,3)

5. The vertices of ADEF are D(2, 5), E{6, 3), and F(4,0). Translate ADEF using the given vector {5, —1). Graph the pre-
. . s 1 fe
image and the image. D{j ,4) 7 (p ;) F ih’ ,[

6. Find the component form of the vector that translates P(-3,6) to P’(-4, 8).

127

7. Worite the rule for the translation of ALMN to AL'M'N’.

8. What is the pre-image of D’(4, -3) using the translation (—8, 4)? T e T D ( %Q -7) )

9. Graph APQR with vertices P(-2, 3), Q(1, 2), and R(3, -1) and it's image after the translation (x,y) = (x + 9,y — 2).

P70 GLlo,0) R'(13,-3)

10. Name the vector and write its component form.
B

24 P
8D
<




11. Find the component from of the vector that translate A{7, 11) to A’(2, 13).

L=%5,47
12. What is the image of Q(4, 2) if the‘rule is{x,y) ->(x+5,y=—4).
G (4,-2)
13. What is the preimage of D" if the rule is (x, y) -> (x — 3, y — 6).

. . Moy e 480 .
14. Write the equation of the line that passes thngugh (1, 6) and (-1, 14).

BoVliom o P‘ﬂ 3
15. Write the equation of the line that is perpendicular to y = 3x + 7 and passes through (-2, 5).

Bo tlonn  of Z(z) .
16. Find the midpoint of the segment with endpoints (2, 5) and (-4, 13).

17. Find the distance between the points (2, 5) and (-3, -7).
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